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Introduce our team
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Introduce our team

1.

Baseline model of neural machine translation
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) File Edit Selection View Go Run Terminal Help ¢ () transformer [WSL: Ubuntu-22.04] 1] &J (1) 08 - 9 X

® nmt_rl ‘ w | | ® bleu_testpy X @ ba - . > i

% bleu_testpy
use_GELU=config.use GELU,
max_length=config.block size,

model 2 = Transformer(
input size=config.input size,
d_modelsconfig.d model,
output _size=config.output_size,
head _num=config.head num,
encoder_num=config.n_encoder,
decoder_num=config.n_decoder,
dropout_p=config.dropout_p,
use GELU=config.use GELU,
max_length=config.block size,

TERMINAL MNMNLEI ' badh - translormes _+_ ) [l_] g R A b4

(GPT) (base) letsgotothehanriver@chiwoonvidia:~/transformer$ l

4

% WSL: Ubuntu-22.04 |¢ll 0 ..'_'.‘_-.. 0 w0 Ln 129, Col 47 Spaces: 4 UTF-8 LF {e Python 3.10.14 'GPT1': conda) 8 tv,




Introduce our team

src: Considering the perspective of the company's risk management, AAA 1 divided the risk classification;
strategic risks, business risks, capital and accounting risks, infrastructure risks and safety, and health risks,
and AAA 2 stated that specific strategies such as improving awareness, improving the employee experience

and expertise, promoting risk management services, and risk management are needed to manage risks for
companies.b66

tgt: 7|910| 2|23 B2|0f ChEh MY HIPO| HS|E M BB, AaA12 2| AT 0 BRSNS 2| AT,
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mal 9|3, 72 B AT, Qlmat 9, 74 B AT RS, Aaa 2 7|2 B2 HE| S YBhME
UIX[70d, Al 8L =g M, 2|23 8| ME[A =9, 2|23 Ee| AMH| L, 2| A3 2E| 5
of TH &0l Meo| Waee BACLD 94Tt
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Introduce our team

src: Rights to education on legal-oriented areas of basic youth labor rights, rights to the detailed

environment, rights to education on social security systems, especially rights to labor rights, have been
established, but relevant laws are insufficient, inappropriate ways.

. | =0 LS He|, SM2tE, Arz| 2EEA|
ot w=0f Lot He|E 8ot RUX| T, &3 BE0| OJH|of 52
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Main 3 Component in developing Al

BIG DATA GPU Algorithm
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Main 3 Component in developing Al

BIG DATA
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Figure 1: The Transformer - model architecture.
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Main 3 Component in developing Al

BIG DATA Algorithm

Output
Probatbilities
| Softmax l
'
' G I (  Linear )
( ) e ~\
g f[ Add & Norm Je=
Feed
Forward
e
s 1 R | Add & Norm h
gg TS, Multi-Head
Feed Attention
Forward T F 7 Nx
| Jo
Add & Norm
Nx T
~| Add & Norm | et
Multi-Head Multi-Head
Attention Attention
| — ) \_ —
Positional Positional
Encodi P & '
ncoding Encoding
Input Output
Embedding Embedding
Inputs Outputs
(shifted right)

Figure 1: The Transformer - model architecture.

=" Microsoft

AMisT FIRST IN CHANGE




Main 3 Component in developing Al

BIG DATA GPU Algorithm
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Main 3 Component in developing Al

BIG DATA GPU Algorithm
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Mathematical Approach
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Mathematical Approach
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Mathematical Approach
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Mathematical Approach
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4. Question
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4. Question
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v & UM - NYgES 74 ZUM X & =-Canva X  &# ORBITS-Transtoremer_structur X = :@ CoreToday Z—UHSF4 0| X & ChatGPT X | €9 colab.google X L0 UNIST =27 /&H - Colab X o =

< -» C 25 colab.research.google.com/drive/1Qs1BQ_cxk4i3kl4VIn7qerr20Pimzl1n#scrollTo=9e1f3f12-9468-425e-aa01-598b99%fbd27 w .
G Google ™M https://www.mgsta...  [0J NAVER ZH20fstl g YouTube O 2= £0
CO & unsT+=RE & 8z 232 0
PRO  mel #x 27| Atel 2EQY £33 £22 DE ARSI HEE
e + 3L + Eﬁ‘"ﬁg v ClRﬁAg. —_ v 4+ Gemini .
Q [ 1 DE=E AASEHLE A2 DEE MAFIMK.
(OB~ = I « 21 B 1 A
{x} © # idd comments here for code explanation
from crewai import Agent, Task, Crew
ez ageneral _agent = Agent(role = "Math TA",
goal = """Step by step, Provide the ideas or hints to the students that are asking mathematical guestions and wou should not give them the answer.vour role is to help student to solve, not just solving problem™"",
& backstory = """You are an excellent math TA that |ikes to solve math questions in a way that evervone can understand vour solution""",
allow_delegation = False,
verbose = True, If
[Ilm = |Im)
task = Task(description="""how to solve the integration? : |
¥
3
+3x%
2
+3x+]1
¥
2
+Z%+]
dxllll Il’
agent = general _agent, B
expected_output="# hint or idea.not the answer")
crew = Crew(
agents=[general _agent],
tasks=[task],
verbose=True
)
result = crew.kickoff()
<>
print(result)
=]
S~ WARNING:opentelenetry.trace:Overriding of current TracerProvider is not allowed
B3 [DEBUG] : == Working Agent: Hath TA

[INFO]: == Starting Task: how to solve the integration: |
« Python 3 Google Compute Engine 22 = 0f HZ & @
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